
男子A6 = 男子B6 = 男子C6 = 男子D6 =

原  侑輝 井上 和仁 桂拓也 花田 直弥 小栗 元貴 堂野貴寛 川崎貴博 荒武 光
岩崎  圭 香川 大輔 高月拓磨 橋本隆文 安藤 圭祐 伊比達彦 越智 大輔 足立 卓磨

水澤 悠太 石川 裕基 林田 和樹 東司 山田 航平 大熊友也 河村侑哉 的場 隆
村上 雄人 岩﨑 拓斗 柴田章平 向井 俊貴 今井 快幸 大関秀一 久野智規 藤田 大祐

③ 対 0 ③ 対 0 ② 対 1 1 対 ②

男子A8 = 男子B8 = 男子C8 = 男子D8 =

原  侑輝 橋本隆文 桂拓也 吉川 興 小栗 元貴 荒武 光 林快昌 堂野貴寛
岩崎  圭 向井 俊貴 高月拓磨 村田海斗 安藤 圭祐 足立 卓磨 真柄壮太郎 伊比達彦

水澤 悠太 岩本偉佐有 林田 和樹 石川 裕基 山田 航平 的場 隆 川崎貴博 白井拓巳
村上 雄人 髙橋晃治 柴田章平 香川 大輔 今井 快幸 藤田 大祐 越智 大輔 大関秀一

② 対 1 ③ 対 0 ② 対 1 ② 対 1

男子A10 = 男子B10 = 男子C10 = 男子D10 =

船水 雄太 林快昌 桂拓也 小栗 元貴 東司 堂野貴寛 中野 寛大 荒武 光
林  大喜 真柄壮太郎 高月拓磨 安藤 圭祐 向井 俊貴 伊比達彦 岩﨑 拓斗 足立 卓磨

水澤 悠太 川崎貴博 林田 和樹 山田 航平 花田 直弥 白井拓巳 吉川 興 的場 隆
村上 雄人 越智 大輔 柴田章平 今井 快幸 橋本隆文 大関秀一 香川 大輔 藤田 大祐

② 対 1 1 対 ② 1 対 ② 0 対 ③

④ 2 - ④

④ 村田 直樹

④ - 1 ④ - 2 2 -

- 1 髙橋慶次 石川 裕基 2 -1 - ④ 坂口 亮太 清原毅文 ④

④ 0 - ④

長江 光一 ④ - 1 荒尾 大輔 鹿島 鉄平

厚木市役所 ワタキューセイモア

3 - ④ 1 - ④ 1 -

④ ④ - 2

ＮＴＴ西日本 宇部興産 ヨネックス 東邦ガス 京都市役所 アキム

3 髙橋慶次

④ - 0 ④ - 0 3 -

- 3 村田 直樹 荒尾 大輔 ④ -④ - 3 岩﨑 拓斗 坂口 亮太 ④

2 3 - ④

長江 光一 1 - ④ 清原毅文 鹿島 鉄平

宇部興産 アキム

④ - 0 ④ - 1 ④ -

2 0 - ④

ＮＴＴ西日本 京都市役所 ヨネックス 厚木市役所 東邦ガス ワタキューセイモア

2 村田 直樹

④ - 2 ④ - 3 ④ -

- 1 白井拓巳 荒尾 大輔 ④ -④ - 0 清原毅文 坂口 亮太 ④

④ 2 - ④

長江 光一 ④ - 1 吉川 興 鹿島 鉄平

宇部興産 ワタキューセイモア

④ - 2 ④ - 2 1 -

ＮＴＴ西日本 厚木市役所 ヨネックス 京都市役所 東邦ガス アキム


